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Square of electrodynamic field.
1.1 Motivation.
The electrodynamic Lagrangian (without magnetic sources) has the form
L=F-F+aA-], (1.1)

where a is a constant that depends on the unit system, A, | are a four-vectors, and F = V A A. My sus-
picion is that one or both of the bivector or quadvector grades of F? are required for Maxwell’s equation
with magnetic sources.

1.1.1  Square of the field.

Let’s expand out F? in coordinates, as preparation for computing the Euler-Lagrange equations. The
scalar and pseudoscalar components both simplify easily into compact relationships, but the bivector
term is messier. We start with the coordinate expansion of our field, which we may write in either upper
or lower index form
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The square is
F2=F-F+(F*),+FAFL (1.3)

Let’s compute the scalar term first. We need to make a change of dummy indexes, for one of the F’s.
It will also be convenient to use upper indexes in one factor, and lowers in the other. We find
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Now, let’s compute the pseudoscalar component of F2. This time we uniformly use upper index
components for the tensor, and find
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where €, is the completely antisymmetric (Levi-Civita) tensor of rank four. This pseudoscalar com-
ponents picks up all the products of components of F where all indexes are different.
Now, let’s try computing the bivector term of the product. This will require fancier index gymnastics.
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The dot product term is killed, since ('yy . ’yv) F' = ¢, F* is the contraction of a symmetric tensor with
an antisymmetric tensor. We can now proceed to expand the grade two selection
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Observe that I've taken the liberty to drop the g, term. Strictly speaking, this violated the equality, but
won’t matter since we will contract this with F/*V. We are left with
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which leaves us with
(F?), = (7 AY*) F* Fy. (1.9)

I suspect that there must be an easier way to find this result.
We now have the complete coordinate expansion of F?, separated by grade
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The next task is to start evaluating the Euler-Lagrange equations for this multivector Lagrangian density,
and see what we get. Before doing so, let’s figure out what value we want for the constant a.



1.1.2  Maxwell’s equations in STA and Tensor forms.

We are going to use the coordinate expansion of the Lagrangian, so we need the tensor form of Maxwell’s
equation for comparison.

Maxwell’s equations, with electric and fictional magnetic sources (useful for antenna theory and other
engineering applications), are
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We can assemble these into a single geometric algebra equation,
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where F = E+7IH = E + IcB.
We can put this into STA form by multiplying through by 79, making the identification ex = y,y¢. For
the space time derivatives, we have
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For our 0,2 multivectors on the right hand side, we find, for example

Yor (cp —J) = yorep — yoveyon(J - ex)
= Yorep + vkn(J - ex) (1.14)

= 'Yog + 7 (J - e).

So, if we make the identifications
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and | = J¥vy,, M = Mtvy,,and V = 99, we find the STA form of Maxwell’s equation, including magnetic
sources
VF=]—-IM. (1.16)

The electromagnetic field, in it's STA representation is a bivector, which we can write without reference
to observer specific electric and magnetic fields, as
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where F* is an arbitrary antisymmetric 2nd rank tensor. Maxwell’s equation has a vector and trivector
component, which may be split out explicitly using grade selection, to find
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Dotting the vector equation with ¢#, we have
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We can find the tensor form of the trivector equation by wedging it with 7*. On the left we have
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On the right, we have
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Note that, should we want to, we can define a dual tensor G*" = —(1/ 2)6’””131:“ ps SO that the electric and
magnetic components of Maxwell’s equation have the same structure
o,F"* =], 9,G"' = MM (1.23)



Now that we have the tensor form of Maxwell’s equation, we can proceed to try to find the Lagrangian.
We will assume that the Lagrangian density for Maxwell’s equation has the multivector structure

L=(F),+a(A-])+bI(A-M), (1.24)

where F = V A A. My hunch, since the multivector current has the form | — M, is that we don’t actually

need the grade two component of F?, despite having spent the time computing it, thinking that it might
be required.

Next time, we'll remind ourselves what the field Euler-Lagrange equations look like, and evaluate
them to see if we can find the constants g, b.
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